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n Consider the following three-dimensional

figure :

B

How many triangles docs the above
fipure have?

(a) 18 (b) 20

How many diagonals can be drawn by
joining the vertices of an octagon?

(@) 20 (b) 24

(c) 28 (d) 64

n The figure drawn below gives the velocity
graphs of two vehicles A and B. The
straight line OKP represents the velocity
of vehicle A at any instant, whereas
the horizontal straight line CKD
represents the velocity of vehicle B
at any instant. In the figure, D is the
point where perpendicular from P meets
the horizontal line CKD such that

pp=11D

c) 22 (@) 24 2 - C\
e~ \\
n Consider the following sum : s 5 \S‘ \ 0
¢ e K D

o+le+20+03+01=21e » %‘\ |\
[y

In the above sum, ¢ stands for @\“ \ g ﬂaci‘“'\u
(a) 4 (b) \TX\

\ )ﬂ e Time
300

t‘- b -
V]

What is the ratio between the distances

m Consid the following pattern of FO: cr?ci IgL;chlclcs Aend B the time
numbers : SN
8 10 15 13 . o 1:2 (b) 2:3
6 5 7 4 fc) 3:4 (@ 1:1
G (5] a8 8 -«
6 11 16 ?

6. A train 200 metres long is moving at the
rate of 40 kmph. In how many seconds

What is the number at ? in the above will it cross a man standing necar the

pattern? railway line?
(@) 17 (b) 19 (@ 12 (b) 15
(c) 21 (d) 23 (c) 16 (d) 18
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Directions for the following 4 (four) items :

Read the following four passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage—1

Global population was around 16 billion in
1990—today it is around 7-2 billion and
growing. Recent estimates on population
growth predict a global population of 96 billion
in 2050 and 109 billion in 2100. Unlike Europe
and North America, where only three to four per
cent of population is engaged in agriculture,
around 47 per cent of India’s population is
dependent upon agriculture. Even if India
continues to do well in the service sector and
the manufacturing sector picks up, it is
cxpected that around 2030 when India
overtakes China as the world’s most populous
country, nearly 42 per cent of India’s
population will still be predominantly
dependent on agriculture,

-
7. Which of thc following \Q;glh ost

logical and r‘aﬁonaﬂnfe ence’ that
can be made K{__}[}'&“E\ "5) passage?
m )\

% I‘{Qapcnty of agriculture sector is of
critical importance to India.

(b) Indian economy greatly depends on
its agriculture.

(c) India should take strict measures
to control its rapid population

growth.
(d) India’'s farming communities
should switch over (o other

occupations to improve their
economic conditions.

CYRF-S-TXLD/50A

Passage—2

Many pathogens that cause foodborne illnesses
are unknown. Food contamination can occur at
any stage from farm to plate. Since most cases
of food poisoning go unreported, the true extent
of global foodborne illnesses is unknown.
Improvements in international monitoring have
led to greater public awareness, yet the rapid
globalization of food production increases
consumers’ vulnerability by making food harder
to regulate and trace. “We have the world on
our plates”, says an official of WHO.

8. Which of the [ollowing is the most
logical corollary to the abové passage?

(a) Wlth m(f @cma for food come
nOl( ]

foodborne illnesses.

\“ \ ¢ Food processing is the source of all

(c) We should depend on locally
produced food only.

(d) Globalization of food production
should be curtailed.

Passage—3
I am a scientist, privileged to be somebody who
trics to understand nature using the tools of
science. But it is also clear that there are some
really important questions that science cannot
really answer, such as : Why is there something
instead of nothing? Why are we here? In those
domains, | have found that faith provides a
better path to answers. | find it oddly
anachronistic that in today’s culture there

[P.T.O.
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scems to be a widespread presumption that

scientific and spiritual views are incompatible.

9, Which of the following is the most
logical and rational inference that
can be made from the above passage?

fa) It is the faith and not science that
can finally solve all the problems of
mankind.

(b) Science and faith can be mutually
complementary if their proper
domains are understood.

(c) There are some very fundamental
questions  which  cannot  be
answered by either science or faith.

(d) In today's culturc, scientific views
arc given more importance than
gpiritual views.

Passage—4

Though 1 have discarded much of past tradition
and custom, and am anxious that India should
rid herself of all shackles that bind and contain
her and divide her people, and supg{gsﬂs “a\ J
numbers of them, and preven “ﬂ}c\Q?\E'
developmcn.t of the bo\c\i?\\ aﬁdﬁfj} irit&.tho gh
I seck all this, vet | r.llfl‘lg()\ wish to cut myself off
from that pas ,om\pig__’..c_l_. am proud of that
great i @ri@gg:&at has been and is, ours
and 1 akconscious that 1 too, like all of us, am
a link in that unbroken chain which goes back
to the dawn of history in the immemorial past
of India.

10. The author wants India to rid herself of
certain past bonds because

(a) he is not able to sce the relevance
of the past

(b) there is not much to be proud of

(c) he is not interested in the history of
India

(d) they obstruct her physical and
spiritual growth

CYRF-S-TXLD/S0A

Directions for the following 3 (three) items :

The following three items are based on the
graph given below which shows imports of three
different types of steel over a period of six
months of a year. Study the graph and answer
the three items that follow.

1%
R
S 404 m
384 | _ -
E 306 4 | —
3 34
S 32- ; |
P 30 4 \§- J
) | 28 4 i |
c 20 i
S %2
= -1 |
S: 20 . i S -
January ' Fn:hmary' March | April I May I June !
OCoil ($320)  ([@ Sheet (S 256) [ Scrap (8 175)

The figures in the brackets indic%\tc t@avcragc
cost per ton over six months pcr\iso \

By how rguc@nlasuprLﬂ in thousands of

® ﬁb‘!\ di\A t‘u.p i\\nrmrt of sheet stecl

sxceed the import of coil steel in the first

\ 4h¥cc months of the year?

(@ 11 (b) 15

(c) 19 (d 23

m What was the approximate total value
(in $) of sheet steel imported over the
six months pcriod?

(a) 45,555 (b) 50,555

(c) 55,550 (d) 65,750

m What was the approximatc ratio of sheet
steel and scrap steel imports in the first
three months of the year?

(@) 1:1 (b) 112:1

© 14:1 (d 16:1

[ P.T.O.
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Directions for the following 3 (three) items :

Rotated positions of a single solid are shown
below. The various faces of the solid are marked
with different symbols like dots, cross and line.
Answer the three items that follow the given
figures.

'/~ S X

. . o e ..

n () (1) (V)

m What is the symbol on the face opposite
to that containing a single dot?

(a) Four dots
(b) Three dols
{c) Two dots

(d) Cross

m What is the symbol on the face 0 @
to that containing two dﬂ'}i

(a) Smg]c d

{ g
(c) Four dots
{d) Line

m What is the symbol on the face opposite
to that containing the cross?

(a) Single dot
(b) Two dots
fc) Line

{d) Four dots

CYRF-S-TXLD/50A

Directions for the following 4 (four) items :

Read the following passage and answer the four
items that follow. Your answers to these items
should be based on the passage only.

Passage

It is no longer enough for us to talk about
providing for universal access to cducation.
Making available schooling facilities is an
essential prerequisite, but is insufficient to
ensure that all children attend school and
participate in the learning process. The school
may be there, but children may not attend or
they may drop out after a few months. Through
school and social mapping, we must address
the entirc gamut of social, economic, cultural
and indced linguistic and pedagogic issucs,
factors that prevent children qfrdfh \Wweaker
sections and dlsad\rantagcd gr%ps as also
girls, from e rc, ld 1\ gttu\dmg and
complemen ng n n ry education. The
foc s us:\ on the poorest and most
ulncmbi since these groups are the most
|scmpoucrcd and at the greatest risk of
uolauon or denial of their right to education.

The right to education goes beyond free and
compulsory education to include quality
education for all. Quality is an integral part of
the right to education. If the education process
lacks quality, children are being denied their
right. The Right of Children to Free and
Compulsory Education Act lays down that the
curriculum should provide for learning through
activities, cxploration and discovery. This
places an obligation on us to change our
perception of children as passive receivers of
knowledge, and to move beyond the convention
of using textbooks as the basis of examinations.
The teaching-learning process must become
stress-free; and a massive programme for
curricular reform should be initiated to provide
for a child-fricndly learning system, that is
more relevant and empowering. Teacher

[ P.T.O.
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100% T 21 1 A T
%" (d) wER F, dR Am-am W o9, T2
3. ﬁr@%aifmmmmmm gﬁfmmmﬁqrmﬁaﬁﬁm
S F1 90 @ 330 B S
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accountability systems and processes must
ensure that children are learning, and that
their right to learn in a child-friendly
cnvironment is not violated. Testing and
assessment systems must be reexamined and
redesigned to ensure that these do not force
children to struggle between school and tuition
centres, and bypass childhood.

17. According to the passage, which of
the following is/are of paramount
importance under the Right to

Education?
1. Sending of children to school by all
parcnts

2. Provision of adequate physical
infrastructure in schools

3. Curricular reforms for developing
child-friendly learning system

Select the correct answer using the code
given below.

{a) 1 only

¢ @\Q

nc of the above

18. With reference to the above passage, the
following assumptions have been made :

1. The Right to Education guarantecs
teachers’ accountability for the
learning process of children.

2. The Right to Education guarantees
100% enrolment of children in the
schools.

3. The Right to Education intends to

take full advantage of demographic
dividend.

CYRF-S-TXLD/S0A

@\“ \ (d) Inculcating i
)K’ activitiecs and discovery

Which of the above assumptions
is/arc valid?

(a) 1 only
(b) 2 and 3 only
{c) 3 only

(d 1,2 and 3

19. According to the passage, which one of
the following is critical in bringing
quality in education?

(a) Ensuring regular attendance of
children as well as teachers in
school

. L 2.

(b) Giving pecuniary bc@ts to

lcaghuq to.g\ tu.atc em

d ml the socio-cultural
\%ack ound of children

learning  through

20. What is the essential message in this
passapge?

(a) The Right to Education now is a
Fundamental Right.

(b) The Right to Education enables
the children of poor and weaker

sections of the society to attend
schools.

{c) The Right to Frec and Compulsory
Education should include quality
education for all.

(d) The Government as well as parents

should ensure that all children
attend schools.

[ P.T.O.
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21. 3% MUMBAI % fau 32 R Lsuxve, Fraferd Meri # A % Fwiew & sin an g
DELHI % fu %2

T4 & R
(a) CCIDD (b) CDKGH
fc) CCJFG (d) CCIFE 25. IR E s Fwrfem § niai f ov e w%
dam ¢, @ IR 9 v e wate ¥
22. 7k RAMON #I 12345 % %Y #i qu fa

. ) A (b) B
DINESH %1 675849 % &9 i feran =mn &, © ¢ d D
dl HAMAM 71 T8 w9 % feran smum?
fa) 92233 (b) 92323 26. le%ﬁm?mﬂ&ﬁmﬂ%ﬂ%/é?
() 93322 (d) 93232 (a) @ A (b) A3 D

~ (¢) FEE C (d) B3R C
23. AR X, -3 -1F A=A tawm v, -130R 1

B A Y A X2-y? RERRI A Y Pt 7 (am) s S o R -

Excacich:Riuk
sl . ‘-ﬂ%ﬁl’,ﬂﬂﬂr{ﬂﬁ“&a’mﬁqf&qmoqh‘ &
(@) - 1 (b} -9 &R-1 maﬁmmmm|ﬁw W\ IR
) 038 (d) 039 %aaﬁuﬁﬁmwﬁ%ﬂx{r
24. X 3 Y, | & @@ s awm v, X @ m—l

721 81 Fefafaa § 3 2R-m v \Fm{ (%:.{ﬁﬁmq) foreft i ) S e &
F Torefir e 27 z—k\ mﬁmn&mﬂmmﬁmm%ﬁmﬁa

fa) XY \(b (rx\/‘? RO Il 6 dgl 7l @ S R gan 1g

(c) Y/X @ ).’yATY/XY T2 WT: jﬂ:,aﬁma\{mmﬁmagﬁhﬁ
aﬁmﬁawwmﬁamummnmmmh

—" S.z(a?) i 35 for i B’I_‘m 2 TFR-mfEE e wifeEl @ ien

(Surafeiie) fafay =i # fom e 2 © w@hE owE,
Hl:{-f?ir@’d ﬂﬂzﬁrﬁqﬁqﬁqaﬁzmqmﬂma@a‘] a2 & udidl PRI Y it w1 weEvfvEm, S
Wi & I A 6 0 & iy oin yon whasita’ &6, semond
o SuwiE A, B, ¢, D, E ¥ F ¥ fon Rl Wmﬁmmmn?mmgww,ai
tera ve ) B @ TR ¢ B ok C 3 & fﬁmﬂqmﬁﬁraﬁmmamﬁ%mﬁwmw
e S ; R UHU F F HR0 TR Al
W,fazﬁruiaamﬁmmﬁmiﬁ amazmhmmawmﬁagmgaﬁmmmﬁmﬁ
amhm,ammmmammam. !\Tﬁlﬁﬁf{aﬁa‘rxéﬁiﬁa:{amamﬁiﬁm’ﬁ
R ol p 3 wmin i % fuin wd w ey 0 Hai‘ua B TR % guiom fagar s @
R fns 8 ) ammmﬁﬂ%mmﬂéﬁméwamm%
bl T CMDF TR v 3o 2 1 e v, s o <
A3 §) E W FEfeE R OW O 2R W AR § e T TR WY IomRE T e
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21, If LSJXVC is the code for MUMBAI, the office. F's office is further down the corridor

code for DELHI is than A’s, but on the same side.

(a) CCIDD (o) CDKGH 25, If E sits in his officc and faces the

(0 CCJFG (d) CCIFE corridor, whose office is to his left?
22. If RAMON is written as 12345 and @ A iy B

DINESH as 675849, then HAMAM will 0 C (d) D

be written as

W 92238 () 92323 26. th_: is/arc F's immediate neighbour/

neighbours?

fc) 93322 (d) 93232 (@) A only (b) Aand D

23. If X is between -3 and -1, and Y is () C only {d) Band C

between -1 and 1, then X2 -¥2 is in

between which of the following? Directions for the following 7 (seven) items :

fa) -9 and 1 (b) -9 and -1 Read the following four passage’i and® nswcr
the items that follow. Your answers to these
{c) O0and 8 {d) 0 and 9 items should bcabascd o@Ye p'lssages only.
o
24. X and Y are natural numbers other

9. .
than 1, and Y is greater than X, Which es mﬁcanor; is"a term used to explain a

of the following represents the laﬁgcst \pﬁoccss of“decline in the biological productivity
number? @ of an ecosystem, leading to total loss of
productivity. While this phenomenon is often

(a) XY \ linked to the arid, semi-arid and sub-humid
<’J\ ecosystems, even in the humid tropics,

(c) %ﬂ@ (X + Y/ XY the impact could be most dramatic.

Impoverishment of human-impacted terrestrial
ecosystems may cxhibit itself in a variety of

Dircctions for the following 2 (two) items : ways : accelerated erosion as in the mountain
Read the following information and answer the regions of the country, salinization of land as
two items that follow in the semi-arid and arid ‘green revolution’

arcas of the country, e.g., Haryana and
western Uttar Pradesh, and site quality
C D, E and F is as follows : Both B and C decline—a common phenomenon due to general
occupy offices to the right of the corridor (as one decline in trec cover and monotonous
. M G Bk 4 A . monoculture of rice/wheat across the Indian
¢nters the office block) an SPLupcs on plains. A major consequence of deforestation is
that it relates to adverse alterations in the
on opposite sides of the corridor but their ?_}vldrology and related s;il and nutrient losses.
¢ consequences of deforestation invariably

offices d o 4 : z p
es do not face each other. The offices of C arise out of site degradation through erosive
losses. Tropical Asia, Africa and South America

The plan of an office block for six officers A, B,

the left of the corridor. E and F occupy offices

and D face cach other. E docs not have a corner

CYRF-S-TXLD/S0A 13 [ P.T.O.
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B ¥ gl I @ e %, R % T2 R WA %
I o A A gf-wEm el &
foarers @ A 77 ) € (Famond, swweia g2 A yga
TN 3 ARG F Wem R | vda 5 ged 1§,
T T F W A W@ g, e dm
7 sfmfin 3l iR sRaTEa B AR F gaa  n W
A -3 1 e 3 aiEddl ) fen @ w2
UF Aued ufom, S| & nem 8 93 9@ sef-
Frengf & st # o I AeeE R wEn %
A FA Al B aenfs fa gag F wen ¥
Y AN AR AR A F FRO FE-A0E A
B el afd % an 4 R, v 9m-arE R oaf s
TITEEY B aTel |9 Il e, daa %
ﬂmﬁmnaﬁznﬁmﬁ(ﬁﬁm) FV TE-TE F
Fgd A FRW FH R0 § | e wwEs % sifom uform
& o Pl sweEn s sl ER
v, =i g yRomeeen, i gEn ¥ sl
FeAm % o e am, 9w i fu-am T
1 2R 9 g

27, 3 =R &
mmﬂnﬁr\ :%

&s f{rg i ¥ 4
’ﬁfl wfeai 6 o
3. ghﬁ 416 W uliesd wig

4. i 6wl

AR few e gz w1 wim W Ed w ghy
(@) a1, 2 3R 3

(b) ¥ 2, 3 3w 4

(c) %ad 1 3N 4

(d 1,2 334
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28. 3 ui=dz A, F=fafas ¥/ ¥9-w/Q wd@
fierd (F%ia) femen sn @@ ¥/Re@ s
T 27
FARgEH & wron AfRdl % anl i ufads
B A R

2. i 7 waviivas Feae wmEE SR
& bl di R

3. WEl # @ wwR g-we,
SwEricadE i, e sl i
e A e F W w R

AR fan T g7 w1 owim w wd s gfg
(@) Fae 1

(b) Fad 1 3w 2 . \R\
(c) o mz@‘{\

\% A4 FE of Wl e T R

29. ‘movER’ & wed i, dm f uftwde 3 avly fen

1. WO, Faa Iwmada &b 6 o
e

2. AR R R, TEARER % shar
qiom #

W i A AR qhunon/gEarend. Ay
/8

(@) Faa 1

(b) *aa 2

fc) 1 3 23
(d) 3@ 1 AH 2
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have the highest levels of crosion. The already
high rates for the tropics are increasing at an
alarming rate (e.g., through the major river
systems—Ganga and Brahmaputra, in the
Indian context), due to deforestation and
ill-suited land management practices
subsequent to forest clearing. In the mountain
context, the declining moisture retention of the
mountain soils, drying up of the underground
springs and smaller rivers in the Himalayan
region could be attributed to drastic changes
in the forest cover. An indirect consequence is
drastic alteration in the upland-lowland
interaction, mediated through water. The
current concern the tea planter of Assam has
is about the damage to tea plantations due to
frequent inundation along the flood-plains of
Brahmaputra, and the damage to tea plantation
and the conscquent loss in tea productivity is
due to rising level of the river bottom because of
siltation and the changing course of the river
system. The ultimate conscquences of site
desertification are soil degradation, alteration
in available water and its quality, and the
consequent decline in food, fodder and fuel

wood yields essential for the éconorm

well-being of rural commumucs
\mh of the

27. According lol paasage

followi gFar \thc conscqt{lcnccs of
WP AN
dfﬁlm&ﬂf‘l@drcs cover?

14y Loss of topsoil
2. Loss of smaller rivers

3. Adverse effect on agricultural
production

4. Declining of groundwater

Sclect the correct answer using the code
given below.

(a) 1,2 and 3 only
(b) 2, 3 and 4 only
{c) 1 and 4 only
(d) 1,2, 3 and 4

CYRF-S-TXLD/S0A

28. Which of the following is/arc the correct
inference/ inferences that can be made
from the passage?

1. Deforestation can cause changes in
the course of rivers.

2. Salinization of land takes place due
to human activities only.

3. Intense monoculture practice in -
plains is a major reason for
desertification in Tropical Asia,
Africa and South America.

Select the correct answer using the code

given below.
I\

(a) 1 only

(b) 1 and 2 only

(c) o2 an& U @

(d) pne of the above is a correct
\“ mference

29. With reference to ‘desertification’, as
described in the passage, the following
assumptions have been made :

1. Desertification is a phenomenon in
tropical areas only.

2. Deforestation invariably leads to
floods and desertification.

Which of the above assumptions is/are
valid?

fa) 1 only
(b) 2 only
fc) Both 1 and 2

(d) Neither 1 nor 2

[ P.T.O.
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fege—2

Sierary GiEdd Al FR s IeE Fh, af
g WeEger Woghiia # ¥ fow ursfe
viwrafal A fafaum A omEwEm @i w@wo &
fere, Tl waet feell ) smavEm @ S g, i el
44 % CO, % Haid = fwes w11 afF wae
T g & fam fEli-dm ol fram-Aa ufsn seia
AN FEAA W A T T v = w e
Tl ¢ A & 3 el W @ omarrs ™, o e
U WAl § W 3= I < 0 gnd €1 adam
FHell, Tl HR] T 99 wENE F Rt e
) Aarka @E FEr (ge) B adia @ ¥ fag
w@d W e ) sEvEd {1 sagd S
WAy ofEd & e B iF TR ¢ aeed g
siedry % sdafa 3 uitdd @ dee A § ek wEwm
Ui F AT s -t S s amm
TN WEeE A % dm ¥ owdee, 38 B oy
e, H A Siadl F i g wm s

fere gift fordl 5 ey fads = e fen @
|| %@,

A\a
30. 3w yi=de & ) ) A,
;?az@*&ﬁ%@i ol

31. dw 9iede & ded H, P=fafaa gduromd

T

1. ifg w1 fafadrm, seam ofed @
il aclic i cb e R B
Al B

2. WU WHE-UE F OAEA ¥ YRy
= o % o= dadl, wife ) sk
AR T 81

I 0 A W qEunn /e 4y

/8

(a) A 1

(b) a2

(c) 1 2R 2 <M

(d a1 smad2 o
.\
ooimc’\
&

s, T guieuits SRS a7l s
W%axﬁjnﬁi' e fawgg % = A Prwrd)

@ﬁﬁa@ﬂﬁﬁﬂmﬁmﬁ,mgﬁzﬁm
# e A 9 gl ) vw famewn witm e B
Wil @ ® | g8 Iuh-eus % 9 F R A AR
a1 7g wegrn =fge £ yedl v Sfees da o witn w0
T R

i = ﬁ .

! o 22. % wheie A, frefefam § A Fm-m

1. W Sl Al F wem waifies foitas st arfde fesd (3%%)

2, Giﬁﬁlfﬂ?ﬂqiﬁ'&ﬂ?‘ﬁlmﬁlm faerTen st Han 27

3. Toom wae v vt (a) YA TR F @R, 9@ oaw WA A

4. van R {”rﬂfiilgﬂﬂw@ sEwEFEme g =
21

A9 e e g2 7 e R t ww g (b) i T T e S w

(@ *as1, 2303 Wr e ) Hifa F 2

(b) ¥ 1, 2 3 4 () g_ﬁqmaﬁmﬁmmamﬁ

Hal

(c) Faw 3 3N 4 N .

o (d) ¥aw A W oI o g

(d 1,2 334 EEIER R ripe ]
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Passage—2

A diversity of natural assets will be needed
to cope with climate change and ensure
productive agriculture, forestry, and fisheries.
For example, crop varieties are neceded that
perform well under drought, hecat, and
enhanced CO,. But the private-sector and
farmer-led process of choosing crops favours
homogeneity adapted to past or current
conditions, not varietics capable of producing
consistently high yields in warmer, wetter, or
drier  condilions.  Accelerated  breeding
programmecs arc nceded to conserve a wider
pool of genetic resources of existing crops,
breeds, and their wild relatives. Relatively intact
ccosystems, such as forested catchments,
mangroves, wetlands, can buffer the impacts of
climate change. Under a changing climate,
these ecosystems are themselves at risk, and
management approaches will nced to be more
proactive and adaptive. Connections between
natural areas, such as migration corridors, may
be needed to facilitate species mo»cmunls to

keep up with the change in climatc
na@

30. With reference o the I>\§
which of the fn‘i\ %G\\l ssist usin
clim

cop:ng -.\,lt te c.ha ge?

( ( natural water

2. Conservation of wider gene pool
3. Existing crop
practices

management

4. Migration corridors

Select the correct answer using the code
given below.

(@) 1, 2 and 3 only
(b) 1, 2 and 4 only
fc) 3 and 4 only
(d) 1,2, 3 and 4

CYRF-S-TXLD/S0A

31. With reference to the above passage, the
following assumptions have been made :

1. Diversification of livelihoods acts
as a coping strategy for climate
change.

2. Adoption of monocropping practice
leads to the extinction of plant
varictics and their wild relatives.

Which of the above assumptions is/are
valid?

{a) 1 only

(b) 2 only

fc) Both 1 and 2
{d) Neither 1 nor 2

o
Pussnge—S \“
Cl lenge is a

Today, the top cn 0 n
combinatiof) n th' aspirations.

lfﬂu: Jl[%l)llb arc more Ilkc the frugal oncs
he Sccond World War, a lol more
po\tb ¢ than if we view the planct as a giant
shoppmg mall. We nced to get beyond the
fascination with glitter and understand that the
planet works as a biological system.

32. Which of the following is the most
crucial and logical inference that can
be made from the above passage?

(a) The Earth can meet only the basic
needs of humans for food, clothing
and sheller.

(b) The only way to  meet
environmental challenge is to limit
human population.

() Reducing our consumerism is very
much in our own interest.

(d) Knowledge of biological systems
can only help us save this planct.

[ P.T.O.
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uieoe—4

FalFfmiE e wmmtaad
A T R @ frege 78 fa 1@ Rrgia faen 3,
FHifs ged ) Fen aivia B | gwd 2 i sEm @
forard s wwdl {1 9% O g8 F W i A R adk
me i yfneEl R st ened § s wwa §1 9@
SH AR TR T fawed @ wn en W, @ A
wiedl @ wag A @ Bl o T W w wiE
Fofa @ siedi == § o @ R Jmm ¥ B od
fem %1 @ 37 T w® & @ 3w w@ W o oam o
w8 gl @ WEE 50 A wen o filE dR W
e )

g @X\

Kr E \@}mg“’#a@iﬂﬁs‘lﬁi@m

(b) AFE T i R frm w2 Wy @
Toram st s 5w 2

(c) wfngm % vfom fam § 5 R 3
i @ dge e = o 8

(d) aﬁwﬁm%ma@amﬁmm
[

CYRF-S-TXLD/50A

34. TF HEA A1 FH A w4 R i ne amen o
A ¢ 3R T Am 4 R Al yam el sifm
I 7 fafmg (329) 73 w = den =@
I FEm F 198 wfvF R, A waw a9 wifim

3% % 1 o §
(@) 1 (b) 2
fc) 3 (d) 4

35. 3 o o YN I T& AW W F Wi FoE A
T F A 1 Fo Hlo o A BR W § ey
™ ¥ B WA A W % e )
%ol T ¢ g7

fa) 12 w 8° ﬂ
© 6 © @\@@é\

\“a& %ooa 1000 & Bl weard feret ard,
ﬁmﬁﬁﬁmm%ﬁiﬁﬂﬁaé.wm

TETE % 3TF W AU T F 30, @ F o0F Y
g1 87

fa) 61 (b) 64

fc) 85 {d) 91

37. AR dE@H < Ihm, W < aar

TEF > 21, m%q%mmw
Hea w27

(a) @A > 2
(b) TG < Tw
c) @ = 3
(d) i > adi
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Passage—4

Some people believe that leadership is a quality
which you have at birth or not at all. This
theory is false, for the art of leadership can be
acquired and can indeed be taught. This
discovery is made in time of war and the results
achieved can surprisc cven the instructors.
Faced with the alternatives of going left or right,
every soldier soon grasps that a prompt
decision either way is better than an endless
discussion. A firm choice of direction has an
even chance of being right while to do nothing

will be almost certainly wrong.

that

,l( ?:g}\'np can be taught through

c\pcncncc only

(b) leadership can be acquired as well
as taught

(c) the results of training show that
more people acquire leadership
than are expected

(d) despite rigorous instruction, very
few leaders are produced

CYRF-5-TXLD/S0A

34. A number consists of threc digits of
which the middle one is zero and their
sum is 4. If the number formed by
interchanging the first and last digits is
greater than the number itself by 198,
then the difference between the first and
last digits is

(a) 1 (b) 2

fc) 3 (d) 4

35. A solid cube of 3 em side, painted on all
its faces, is cut up into small cubes of
1 cm side, How many of the small cubes
will have exactly two painted faces?

(@) 12 (b) 8 \Q

Q) @ q o
3&“ \Tﬂe&n&g all the numbers from 700

000 how many numbers occur in

33. The author of the passage holdg&%@\“ which the digit at hundred’s place is

greater than the digit at ten’s place, and
the digit at ten’s place is greater than
the digit at unit's place?
(a) 61 (b) 64
(c) 85 (d 91

37. If Pen<Pencil, Pencil<Book and
Book > Cap, then which one of the
following is always true?

(a) Pen > Cap
(b) Pen < Book
() Pencil = Cap

(d) Pencil > Cap

[ P.T.O.
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38. T Te fasedl 3 ¢ x wfa gew 1 A i
'@ gEEn 9w, € (+2) U g A @
e F1 ‘a+2' T A6 qu ¢ (x - 2) uf
T F R A e A a-2 g A

ekl F@ Tl (€ ) feed 27
(a) 3x+3a (b) 3ax+8
() 9ax {d) x3a3

39. {4l 3% 7 15 @@ @ =R 20 e 7§
YF R W1 W 2 @ 3 H e faeh 3
T TE & 20% W H@ 1 99 6 40% T
wem 3 foeh ) w6 wEn, wiel i@ § 459
WHESA 2 G491 30% W e 3 e §) w
Al Tl U T e R @ R aR
R R W W 3 R dEn §oagE Rk
T FC R I W W 2 A owEn R,
mwmmalmmmm

@ 3 (b)

4o.ﬂmﬁﬁaﬁza1=‘é1qmnﬁma’t=ﬁ%1
W H B, AR AT @ qun I Rl 9u %
#2 W 30° F A T ¥ 99 A, | frg
mw%a‘l%ﬁmﬁ?ﬁaam
THE t, 7@ 9% B fuma@ R1 A 3k B D
[l S R, 4R 3 s v d

e w
(a) 6:5 (b) 4:3
fc) 6:1 (d) 4:2
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41, & wlan 3 om W F o = el @
40% % 9ifgu) nF it & 3/ 30 3w
frerd & qun g 30 i A I @ w2,
@ ghen § AfiEan o R 37
(@ 100 (b) 120
() 150 (d) 300

42. gH den F fou 19 @=% am f) T A
11 g R e 78R g § el 14§ R
T ow g 1 @ o e o b T
T AR/ & 7 v 8 gl =4 vt aeE

&1 Fen 7= 27
fa) 3 (b) S
() 6 @ 8, \{\
ﬁnﬁlﬁae (u’r‘& [ thﬁ%
J}% 3R THF 94T AN did
I difsu

Comommaaﬂmqamm—;v Q, R
ams(aﬁama T w0 % aE) 2w @ #)3 9Ra
Fieldl, AR Fiew, mer’mﬁm
(afEria: ¢ w0 % 7)) T w R W 9w
M—Wﬁ.mﬁ,mm%ﬁa(uﬁaﬁazm
74 8 7d) 4 R €1 7 o fom o @ fr—

(i) D wwHH Yz @R

(i) W Fow AW SH R, N TR #

i 3

(ili) A F w1 w2 @ 2

(iv) BIR QAR

(v) G Fies ¥ ¥ R R

43. AR
(@) TR & (b) TR
(c) R QHA (d) ¥ i
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38. A bookseller sold ‘@ number of
Geography textbooks at the rate of & x
per book, ‘a+2 number of History
textbooks at the rate of ¥ (x +2) per book
and ‘@-2' number of Mathemalics
textbooks at the rate of ¥(x-2) per
book. What is his total sale in €?

(a) 3x+3a (b) dax+8
{c) Y9ax (d) x3a®

39. A bag contains 15 rcd balls and 20 black
balls. Each ball is numbered either 1 or
2 or 3. 20% of the red balls are
numbered 1 and 40% of them are
numbered 3. Similarly, among the black
balls, 45% are numbered 2 and 30% are
numbered 3. A boy picks a ball at
random. He wins if the ball is red and
numbered 3 or if it is black and
numbered 1 or 2. What are the chances

. A student has to get 40% marks to pass

in an examination. Suppose he gets
30 marks and fails by 30 marks, then
what are the maximum marks in the
examination?

(@) 100 (b) 120
(c) 150 (d) 300

19 boys turn out for playing hockey. Of

these, 11 are wearing hockey shirts and
14 are wearing hockey pants. There are
no boys without shirts and/or pants.
What is the number of boys wearing full
uniform?

(@ 3 (b) S

c) 6 (d) Q
Directions fomthe.. ono i:r. items :

Read the lt\l.formattg bclow and answer
th° si:ﬁ'tc s that fo low

Qand D are students. They are studying
n fgur different cities, viz., P, Q, R and S (not

of his winning? @ Y
(@) ‘{m necessarily in that order). They are studying in

MC Science college, Arts college, Commerce college
X\ and Engineering college (not necessarily in that

order), which are situated in four different
@ 13 States, viz., Gujarat, Rajasthan, Assam and

Kerala (not necessarily in that order). Further, it
is given that—

40. Two persons, A and B are running on a
circular track. At the start, B is ahead of
A and their positions make an angle of
30° at the centrc of the circle. When A
rcaches the point diametrically opposite
to his starting point, he meets B. What
is the ratio of spceds of A and B, if
they are running with uniform speeds?

fa 6:5 () 4:3
fc) 6:1 d 4:2
CYRF-S-TXLD/50A 21

(i) D is studying in Assam

(ii) Arts college is located in city S
which is in Rajasthan

(iii) A is studying in Commerce college

(iv) B is studying in city Q

(v) Science college is located in Kerala

43. A is studying in

(a) Rajasthan  (b) Gujarat

(c) city Q (d) Kerala

[ P.T.O.

RaadheytheVisiion | | Contact us: - +91962575753; +918889907405

mailto:mentorship@raadheythevisiion.in

raadheythevisiion.in

Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

44,

45.

47- 3 -

48.

HigH e o
(a) TRQH
(b) &L SH
c) TR RH
(d) & PH

CR e

(a) BTEE FicH 3
(b) TRER A
(c) T H

(d) wE QH

Rafafa w43 # 3 F9-m @ w0 27
(a) DWe SH € vg T R

(h) A HEE wiaw Yz @ )

(c) ASERIE @R

(@) ?:-ﬁﬁmhmaawnﬁima

¢l ue w R
(b) B¥E g @ R
(c) ¥ TG H fEm R
(d) D% 9g w1 R1

frfefan Fai & 4 F9-m v 5@ 27
(a) ST Fiers wa § R R
(b) W& Q ¥¥\A T fiyq B

() C¥F=i9w@i

(d) B A g @R
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K\@\ﬁw\ T E

Frafafm 8 (ame) wwiv & forg frdm

d9 w ™ e ufeost 91 ufer i ahsdl § AN
M qE TET F IR AT T I E E I
Fae [ ui=sel W@ anuif@ 7R @t

ufege—1

oA dfEd #1 Fane #@ f o seaiE §
Wqa: WP SidHiea @ &1 wia 3@ W ¥ fau
SIESH A4 W Amiel s gidemis @)
| Tga W R VA 92 fewmenia 3w ¥ fom, )
S Yiadd i wEivs A e § A T e,
fadm o A @ sEwEas @ W@ g, w®
mﬁnmﬂ%m%lﬁmmﬁmmm
qﬁa‘haﬁmﬁmaﬂim'ﬂn%@a
'q'itﬁﬁaﬂmwaiqfiﬁﬁ

M“Tm‘“ﬁam\ @a m@

2z & vl #, fiafie w@eon

sear] witda, fewfa e % fre T
Ekd

2. ¥ W ¥ fau, womm thEd
sifee Hfifda @ ¥ sin v R = o
Sl

3. fofim #fF i @wm @en @ aifs
faFmede 2 9 sgEeR A T
R |

IEE § A FE-A qhuvon/gdurond. 4y

/87

(a) Fa@ 1 3R 2

(b) FaFa 3

(c) +aa 2 3N 3

@ 1,233
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44, Science college is located in
(a) city Q
(b) city S
(c) city R
(d) city P

45. C is studying in
(a) Science college
{b) Rajasthan
(c) Gujarat
(d) city Q
46. Which one of the following statements is
correct?
(a) D is not studying in city S.
(b) A is studying in Science college.
(c) A is studying in Kerala.

Gujarat.

foll
(d) Engineering college is locaﬁ@\“ \ ’j

47. Which one of tm\é\ (6] Io tements is
correct yegardi il ugnn:,er_mg college?

’f:) @g*%@;\udymg there.
\b} B is studying there.
{c) It is located in Gujarat.
(d) D is studying there.
48. Which one of the following statements is
correct?

(a) Engincering college is located in
Assam.

fb) City Q is situated in Assam.
(c) C is studying in Kerala,

(d) B is studying in Gujarat.

CYRF-S-TXLD/S0A

Directions for the following 8 (eight) items :

Read the following eight passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage—1

All actions to address climate change ultimately
involve cosls, Funding is vital in order for
countries like India to design and implement
adaptation and mitigation plans and projects.
The problem is more severe for developing
countries like India, which would be one of the
hardest hit by climate change, given its need to
finance development. Most countries do indeed
treat climate change as real threat and are
striving to address it in a more comprehensive

and integrated manner wit‘l_} the limited
resources at their disposal. \
49, W:tﬁ’ rcfa e {:\' o\the above passage, the

0¥ng assumpl.lons have heen made :

limate change is not a challenge
for developed countries.

Climate change is a complex policy
issue and also a development issue
for many countries.

3. Ways and mcans of finance must
be found to enable developing
countries to enhance their adaptive
capacity.

Which of the above assumptions is/ar¢
valid?

(a) 1 and 2 only
(b) 3 only
() 2 and 3 only

(d 1,2 and 3

[ P.T.O
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Uitege—2

N A Y O R4 R W A YEE ERE
AR UgE FwE R R0 WEEa ¢ oad fdA
wrageE w1 e aa a9 weifw sifan = g
#d ¢ vfa 7 7w oad 7 10 @@ A A e
g7 e 9 T, < amn wm A w vg $e
A a1 3, % F A @ 9 @ $W A 2w A am
g %k dedd 15 @ 3 e B 8| TN wm
ar M % §, 98 f6 udo dio s, mEkiE m
@ fawell, T IEm FW Al IR SR
feem -4t =72 @ 2, Wou% B dun A ugm wm
A Al $U9 F w9 I9@m § an e sen wnan
30 @l & 70 g W A 7

50. IE® UR=UE A, ﬁmﬁiﬁaﬁﬁaﬁﬂ-m
waifuw fFoias st afée fred (F6)
Frren =i w27
(@) T WE, WRA wal % ok ged

mmﬁmnqsr‘imim%
IFEN F =R L)

(b) mnm?mirmguq:
W g %%
I F
m\ﬁ\@\

{cgwwmmmqmﬁm
Tifen an whE el 3mms s
e |

(d) ﬁﬁaaﬁﬁmmﬁﬁﬁamm
49 TR ST e I w5 e w0
T 2

ufege—3
f\aﬁam%mﬁm%éﬁﬂmﬁaﬁﬁ%ma
TH @ R FE & R, O g0 T IR em R
T &, T wat gE faa, 9 & a2,
Fe-Ued &, I ¢, w1 whiw frew (Rem) ww@ d,
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3 &R e A 5 A v faam F 9R 26 0 afm
oI B w6, a8 A9 e wela 3 givem 2

51. F=fefaa 4 4 99-w = T o= 71 g9
wEeEqot fAfgare 21
(@) TE fag fm =1 =a R

(b) Taam @ oF gal fag w1 fwin w0 g
Al T o 7% w2 o )

(c) Taam =+ fam geh faa dva 74 2
(d) gel fag = @0 faogm o T R,

fER A @a
ufde—a
e F S $m, vee olv afebd f
maﬁﬁﬁﬁaﬂ'ﬁ*aﬁmm F<§| Afe
mﬁmgﬁ

aerEfem, =0 TIic’-?ll'd(Iﬁ\ﬂ
0
3 2 3R TFd1 off

mmaiﬁm
mmamzsmmwam

ﬁ‘m{[ﬂ mzﬂmr"magti‘amraq ferg
?ﬁiﬁ I S T R, fvw W oo W fas
aivw 8 wfus dawdl F fau et 2 -1
A 1 g2 /T 3 9 @ a2 = e
AR F 4% AVEN F D994 % o zemifea fen 2

52. f=fdfen 4 & ¥R-m = | < W gan
wEqul fAfgare 8
(a) ¥IG HFFE Tew A TR T wm
wahdl @ sl I0F dWE 0 T O
4gs € wdl ¢
Ak 1 it fen = fraem -t
4 YftEdAl 1 FR0 )
qrfew & wfaw # fag ¥ o |
FH ) Wil §uEn F gemen |
Arifer 47 1 i 4 i Tamm
2l

(b)

fc)

(d)
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Passage—2

Cooking with biomass and coal in India is now
recognized to cause major health problems,
with women and children in poor populations
facing the greatest risk. There are more than
10 lakh premature deaths cach year from
household air pollution due to polluting cooking
fuels with another 15 lakh due to their
contribution to general outdoor air pollution in
the country. Although the fraction of the Indian
population using clcan cooking fuels, such as
LPG, natural gas and electricity, is slowly
rising, the number using polluting solid fuels as
their primary cooking fuel has remained static
for nearly 30 years at about 70 crore.

50. Which of the following is the most
crucial and logical inference that can
be made from the above passage?

fa) Rural people are giving up the use
ol polluting solid fuels due to their
increasing awarceness of health

)

hazards. K\@
1

Subsidizing u"s:@ clean

cookin;'\mﬂ?.i il"soWe the problem

ofslmf@&\i\u‘;bn\!”ain)pollution.

({:@n@ia should increase its import of

natural gas and produce more
electricity.

(b)

(d) Access to cooking gas can reduce
premature  dcaths in poor
houscholds.

Passage—3

Scientific knowledge has its dangers, but so has
cvery great thing. Over and beyond the dangers
with which it threatens the present, it opens up
as nothing else can, the vision of a possible
happy world; a world without poverty, without
war, with little illness. Science, whatever

CYRF-S-TXLD/50A
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unpleasant consequences it may have by the
way, is in its very nature a liberator.

51. Which one of the following is the most
important implication of the passage?

fa) A happy world is a dream of
science.
(b) Science only can build a happy

world, but it is also the only major
threat.

(¢) A happy world is not possible

without scicnce.

(d) A happy world is not at all possible
with or without science.
Passage—4
The Arctic’s vast reserves of fossil fagl, fish and
minerals are now accessible fcﬁ; a longer period
in a year. But unilik¢ AntarQticd, which 1is

protected fr Qalt\;atc iof by the Antarctic

Treatw framed durmg the Cold War and is not

"ubﬁf‘é 1) territorial claims by any country,
there 1s no legal regime protecting the Arctic
from industrialization, especially at a time when
the world craves for more and more resources.
The distinct possibility of ice-free summer has
prompted countrics with Arctic coastline to
scramble for great chunks of the melting ocean.

52. Which onc of the following is the most
important implication of the passage?

fa) India can have territorial claims in
the Arctic territory and frec access
to its resources.

(b)

Melting of summer ice in the Arctic
leads to changes in the geopolitics.

(¢) The Arctic region will solve the
world’s future problem of resource

crunch.

(d) The Arctic region has
resources than Antarctica.

morc

[ P.T.O
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Passage—5

Being a member of the WTO, India is bound by
the agreements that have been signed and
ratified by its members, including itsell.
According to Article 6 of the Agriculture
Agreement, providing minimum support prices
for agricultural products is considered
d‘iswning and is subject to limits. The subsidy
arising from ‘minimal supports’ cannot excced
10 per cent of the value of agricultural
production for developing countries. PDS in
India entails minimum support prices and
public stockholding of food grains. It is possible
that, in some years, the subsidy to producers
will exceed 10 per cent of the value of
agricultural production.

53. What is the crucial message conveyed
by the above passage?

(a) India should revise its PDS.
(b) " India should not be a member
of WTO.

For India, food sccuri
with tradc‘\

I&dﬁ&:@&gfooﬁ qt}cunty to its
( Passage—6

India’s cducational system is modelled on the
mass education system that developed in the
19th century in Europe and later spread
around the world. The goal of the system is
to condition children as ‘good’ citizens and
productive workers. This suited the industrial
age that needed the constant supply of a
compliant workforce with a narrow set of
capabilitiecs. Our  educational institutes
resemble factorics with bells, uniforms and
batch-processing of learners, designed to get
learners to conform. But, from an economic
point of view, the environment today is very

(c)

CYRF-S-TXLD/S50A
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different. It is a complex, volatile and globally
interconnected world.

54, With reference to the above passage, the
following assumptions have been made :

1. India continues to be a developing
country essentially due to its faulty
education system.

o

Today’s learners need to acquire
new-age skill-sets.

3. A good number of Indians go to
some developed countries for
education because the educational
systems there are a perfect
reflection of the socicties in which
they function.

Which of the above assomﬁ@ﬁs is/are
valid? _ \(\ ‘\ \
(a)\ &g @:nly
\ %} 2 only
(¢) 2 and 3 only
(d 1,2 and 3
Passage—7

The practice of dieting has become an epidemic;
cveryone is looking out for a way to attain that
perfect body. We are all different with respect
to our ethnicity, genetics, family history,
gender, age, physical and mental and spiritual
health status, lifestyles and preferences
Thereby we also differ in what foods we tolerate
or are sensitive to. So we really cannot reduce
so many complexities into one diet or diet book
This explains the failure of diets across the
world in curbing obesity. Unless the reasons fo
weight gain are well understood and addressec
and unless habits are changed permanently, n
diet is likely to succeed.

[PT.C
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55. What is the most logical and rational
inference that can be made from the
above passage?

{a) Obesity has become an epidemic all

57. A shopkeeper sells an article at € 40 and

gets X% profit. However, when he sells it
at £20, he faces same percentage of
loss. What is the original cost of the
article?

over the world.

(@ ¥10 (b) €20
(b) A lot of pcople are obsessed with

attaining a perfect body. (c 30 (d €40

Obesity is essentially an incurable . )
i diszsasi ¥ 58. There are 24 equally spaced points lying

on the circumference of a circle. What is
the maximum number of equilateral
triangles that can be drawn by taking
sets of threc points as the vertices?

(d) There is no perfect diet or one
solution for obesity.

Passage—8
Monoculture carrics great risks. A single fa) 4
disease or pest can wipe out swathes of the
world’s food production, an alarming prospect fc) 8 {d) @
given that its growing and wealthier population

will eat 70% more by 2050. The risks are
magnificd by the changing climate. As the
planet warms and monsoon rains intensify,
farmlands in Asia will flood. North mc ca\“ \
will suffer more intense drought:i‘.;ﬂ

diseases will sprcad ) nu.\ l¢ 11 rh-

59. Ccmmdq5 Qa%q n€e given below :

1196 29/1/96, 26/2/96, .

What is the next term of the series?

(@) 24/3/96 (b} 25/3/96

§6. Which o, g\owmg ] th most

(Io’?calf onal an crucial (c) 26/3/96 o AR

MgIe given: by the pﬂssagcj 60. Twelve equal squares are placed to fitin a
rectangle of diagonal 5 cm. There are
three rows containing four squares
cach. No gaps are left between adjacent

fa) Preserving crop genetic diversity is
an insurance against the effects of
climate change.

(b) Despite great risks, monoculture is squares. What is the arca of cach
the only way to ensure food square?
security in the world. 5

(a) — sq cm

c) More and more genetically modified 7
crops only can save the world from 7
impending shortages of food. (b) 5 i

(d) Asia and North America will be 1
worst sufferers from climate change (c) nom
and the consequent shortage of 25

d) — sqcm
food. 4 3%
CYRF-S-TXLD/S0A 29
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IBY - fvm s (o) wfrew i

100% .
Fd
i
Ersu] | sl !
= _a"-
E 50% - AT
) 4 i
25% A T "\~
/’ /
0% L=

19m W @ gad s | freen

Fefaf § & #9-m %@ sw o m
Aa F gl § w9 7 27

(@) 1 I & FM 5 arafas wnfa s
wifa @ w4 off)|

(b) FH@ i amEfaw wife A X R wH
7 waifum )

(c) ¥ ara i AT W ¥ TS TuE B
LI

(d) 1aqﬁaﬂ1ﬁmmz'ﬁaaaﬁmﬁm»ﬂ
mmﬁﬁﬁﬂnﬁaﬁ}mm QW\
e i
& w i “”“\@\ﬂn\\’

; I i ‘rl\*'g}/%ﬁ
. 0.0

Y W AR AN R
{

Iyered B: fafim 0t 3 & 01 0§ s
& 1 @ve § A WAF B T8 TE o0
‘%ﬁﬁmsﬂmmﬁmmmqm
feran-sia ) fee srem-stem al @ m

a1 7
a) 120 {b) 81
fc) 66 (d) 36
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@\R \{b}ﬁﬂﬁm # gfe-=w 78 R

Frafafam 2 () wyivit & forg frdw

AR R T s (o) w fraw S R e
&) T i g A 8, ol 3w am wR I Q)
T % I A

305—"‘-—-\\
E“."‘\ \
EQO- ~l G
ﬁ : S ]
: B
£ r \\'ﬂﬂﬂl
"')10- 5
Uhllllllll P Ll
1970 1980 1990 2900 2010
mmﬁ%@ \S}%ﬁs
arflgﬁ&faa\ow
-"Rﬁ'cﬁ?

(c) THEEn ) gig-w Br o}

(d) e # gfe-w el waf @ T
feard

EE} w R s § ded #, 1070 A snuw

9 qre FrfefEs o w faem fif .

1. 35 =4l % gam sweem fRn 2w 3

2. 35 34l % vam wwEEn gfe-n RBn A
T R

3. W& 10 AW H gege § 109 ) fee
iRl

4. 3594 & R w9 B A Ry

WE i A FA-A waite @ o

ThETT BT ¢ W) 5 W amE | T W

HHa &7
(@ ¥ 132 () 1,233
(c) 334 (d) 2 3 4
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m Consider the following graph : Directions for the following 2 (two) items :

o Consider the following graph in which the
o ] o birthrate and death rate of a country arc given,
Expected and answer the two items that follow.
e 75% - progress 1
8 - = 30—
3 e I = - \
S 50% - - 3 F i
25%4 4 | T progress o . 8 Birthrate
L / &20 » LT g
0% L g - .
Ist April May Junc July Aug 1stSept "E' - B - e
-~ N A
Which one of the following statements is - - " N
not correct with reference to the graph i F h
given above? '-g - i ve- e il
(a) On 1st June, the actual progress of -E
work was less than expected. Q ?9;;}“ ™ 11.981{'.; el 1lggn.c; e ‘2’,966’ - "2;}10
(b) The actual rate of progress of work e
was the greatest during the month ) \
of August, m Lookmg at th\c‘graph it ¢an be inferred
(¢) The work was actually completed tHat fro K:?Gald 2010
before the expected time. pupul on growth rate has

tﬂ)
{d) During the period from 1st Apn@w % increased

population growth rate has
1st September, at no tlm};

decreased
actual progress mofc” thm‘ growth rate of population has

expected Brogrc@\ remained stable
m For a 11 mu.\\i o winners' stand (d) population growth rate shows no
trend
n t r woaden blocks is in i
fﬁfﬁ\fﬁ]’s{ f“ m With reference to the above graph,
didhoting form : consider the following statements

considering 1970 as base year :
1. Population has stabilized after
35 years.
2. Population growth rate has
stabilized after 35 years.
There are six different colours available 8: Death rais has Muen by 10% i
the first 10 ycars.
to choose from and each of the three 3 -
: i 4. Birthrate has stabilized after
wooden blocks is to be painted such 35 vears
hat t .
that no ‘two ‘of lhcmﬁhas the: eame Which of the above are the most logical
colour. In how many different ways can
: . . and rational statements that can be
the winners’ stand be painted?
made from the above graph?

fa) 120 (b) 81 fa) 1and 2 only (b) 1,2 and 3
{c) G6 (d) 36 fc) 3 and 4 ({d) 2 and 4
CYRF-S-TXLD/50A 31 [ P.T.O.
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65 RE I ERAEP IR . [Tt e ——w—"—

A uf 921 ¥ (E) P A m 2
E A
40
3 35 ~
¥iA Ge 4 |
25 =
20 F———t——t——y >
2013 14 15 16 17 Y
ay
fma
E

30 /’/o

sm 20

1 >
2013 14 15 16 17 ¥ \ﬂ
e e

(a) E% 5od yem-sem

(b) E % 9itm {Nﬂhﬁﬂmqé:gm%‘a
A9 T TR srem- e §

(c) ¥er@l (%) ) yavm w9m 2
(d) ET 3t i1 & srem-siem 3
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m Average hourly earnings per year (E) of m Consider the figures given below :
the workers in a firm are represented in
figures A and B as follows :

A0 =

Hour‘z'y 35 -

carnings | | | 1 ] ﬂj—\ \T/
25 -
20 O t t t t

w

2013 14 15 16 17
Years
Fig. A {H’I\ ?
E A .
401 P \
T 0
a0t // % Q\ﬂ .

T o i .
e~ / _° :\_ tlllg qucstion mark, the correct
Hourly \ answer is
earnings 1
lo-. @

L+ a‘\‘“‘( \

_—

W . — > {ﬂ} .jj—
20 L
@ ‘\éﬂilﬁ 17
cars
\( a Fig. B
From the figures, it is observed that the (b) 'jj_

fa) values of E are different

(b) ranges (i.c., the difference between () < ”

the maximum and the minimum) of
E are different

(c) slopes of the graphs are same

(d) rates of increase of E are different

CYRF-S-TXLD/50A 33 | PT.O,
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it it A 3R B W fomm ifim

IereT F @
(T s

; —I"i w (o] ~] (s o]

1000 2000 3000
i srel @ daar
A

3o
W@@z i el zeme ) P
arlg sievafya ol foar nf @1 wm-3-am
forem ereel w1 Fmw feman s =nfee anfs wif
aq?

(@) 2000
fc) 3000

(b) 2500
(d) 3500

68. TF fowe # 18 59w 41 30 =i 1 & W1 6
gaal B) faw 1 12 Sa F oy e a9

1w 87
(@) 6 {b) 10
(c) 12 (d) 15

CYRF-S-TXLD/50A

“ ,
o gﬂ\@\

69. Tl =fs 3 £22,800 Hiwm =1 =
12:5% =#gfE =M (fd%) w wlien) vea
T4 & 3 W I €8,650 W T 99 ¥ 37
W ¥9,125 FF| FW W gEH F fw @
drat ad % s d frod w92 &1 spram e

Bm?
(@) ©9,990 (b) ¥10,000
(¢) ®10,590 (d ¥11,250

Friifra Rl w0 forem ifv -
AVANNAVAN A7
o °\ o

o\\ tll% \ (1
AVANNAVA
W fem () & (vi) 7% # Fo wm Fafe

(Vi)
femaii § st feufomi =een qu feam mo &)
Tl TR T SE FA g AR g g
48 FA-W 9 (V1) § smen?

¥

)
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Consider the following figures A and B:
8

Cost of production
(¥ in lakhs)
n o

1000 2000 3000
No. of pieces manufactured
Fig. A

wn
o
[«

H
[91]
o

H
[=]
o

Selling price per
piece (T )

asn

300

1000

p\r‘
By

?V facl. rmg cost and projected
sal fo a product are shown in the

bove figures A and B respectively.
What is the minimum number of pieces
that should be manufactured to avoid a

loss?
(a) 2000 (b} 2500
(c) 3000 (d) 3500

68. A lift has the capacity of 18 adults or
30 children. How many children can
board the lift with 12 adults?

(@) 6 (b) 10
(c) 12 (d) 15
CYRF-S-TXLD/S0A 35

2000 a@(\@\“ \

69. A person bought a refrigerator worth
¥22,800 with 12-5% interest
compounded yearly. At the end of first
year he paid ¥8,650 and at the end of
second year ¥ 9,125. How much will he
have to pay at the end of third year to
clear the debt?

(@ 9,990 (b) ¥10,000

(c) ¥10,590 (d) ¥11,250

Consider the followmg figures :

(1)

%K/\ /@\ VA

In the figures (I) to (VI) above, some
parts are shown to change their
positions in  regular  directions.
Following the same scquence, which of
the figures given below will appear at

(V1) stage?
\/
VA

AVA
VAV,

(a)

(b)

(d)

[P.T.O
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1-2
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g 08
£ 06+
E (I ey
r 02 _/ :‘::":_-—_;-q."_’.'_-._-_'
0 I- = I- = I | | |
1950 1970 1990 2010 2030 2050
ad
<15 15-64 64+
B
12

S A
S Agf@iémo 038 2080
€09

15-64 64+

IGT @l F owed #, feRifa §
AN wEAIE aiHE ik whwm A

(F%tq) Frrmt < w0 §7
1. Toeel e <ol 1§ 2w B % fivkan
EEE Y o

2. W T W % @ W, W A @
i auma, %ms%;ﬁﬂtmaqmﬁ
el § 7ga Q) o)
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E g: %K\@\ﬂ \m
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3. e 3 s A, W AR e i 2w B
i 1 T F UNE FEvie e
g sl |

AR w0 = Wi = wd I g

(@) Fad 1 3R 2

(b) a2 3R 3

(c) hae 1 33

(d 1,233

(&

72. @&, IO M~ gﬂ‘[,a& T O
ﬁsﬁmm%‘r} f\ (z7c0) B TR
4T

sl F 9 IR T A R F O
a2

(ii) ZEH T, 7R @A Raerd) % gde @
ﬁzﬂimﬁﬁvhqq@m

(i) ¥ =m faerd am WA @
faerE) ¥z % v @ ww §)

TR el faerd 9 27

(a) 361 W

(b) e g

fc) I8 YA

(d) wsd)
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Consider the following graphs. The
curves in the graphs indicate different
age groups in the populations of two
countries A and DB over a period of few

decades :
. Country A
g 12
:=" o4 e,
Eog| e T
g -]
=064 000 "
: -.-"'
S 04 e
g =
'53;0-2—/ oo
S [ | T T il 1
1950 1970 1990 2010 2030 2050
Years
<15 15-64 “ea+
— Country B
@ 12
£
E
E o
£ > sl mé\ﬁ
(~]
= 1"‘

Years

5 15-64 64+

o
1950 A “6&“7“ \ \\Jf 5030 2080
<1

With reference to the above graphs,
which of the following are the most
logical and rational inferences that
can be made?

1. Over the last two and a half
decades, the dependency ratio for
country B has decreased.

2. By the end of next two and a half
decades, the dependency ratio of
country A will be much less than
that of country B.

CYRF-S-TXLD/B0A

3. In the next two decades, the work-
force relative to its total population
will increase in country B as
compared to country A.

Select the correct answer using the code

given below.

fa) 1 and 2 only
{(b) 2 and 3 only
fc) 1 and 3 only

(d 1,2 and 3

0\

72. Laksgxmlc’ hcr("h otfl}{ bcr%aughu.r and
her minton players. A game

f do 1hlen is about ta begin :
w \ Lakshmi’s brother is directly across
the net from her daughter.

() Her son is diagonally across the net
from the worst player’s sibling.

(iii) The best player and the worst
player arec on the same side of the
net.

Who is the best player?

(a) Her brother
(b) Her daughter
{c) Her son

(d) Lakshmi

37 [ P.T.O.

RaadheytheVisiion | | Contact us: - +91962575753; +918889907405

mailto:mentorship@raadheythevisiion.in raadheythevisiion.in

Mukherjee Nagar, North West, Delhi-110009



mailto:mentorship@raadheythevisiion.in
raadheythevisiion.in

EE = fou m s A o A wmf i
¥F 77 wqw ff =0 4 ofs ar feg M

il 1 foram g
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600
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— ok
550
550 Tt
500
450
400
400
350
300

q2 27 fmie m2 w1 w2s wmd17 wis @6

2010 2011

3\
K

frafaftm 1§ A F9-m w 3
miarémwa#m‘\“.zmt\}*?

ﬁ&wmﬁuﬁmﬁam
(b) e A I @

(c) wrFafs s fsh 2 el % afy @

(d) vHfa-fRh F=m
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Frefafem 2 (2) wvivt & fw B

T @ wferm A frdl frda ad 3 fred 3w % Bl
T R o Do dlo gg-a iR e T HiwD
feam mu § | gm wiferm | sorm fiftm s om s

T Ayl ¥ IW G
Wy | wlasfs | se dle dte | gEen
3 (B) | -3 (%) qETa
™1 | 704 9-52 7027
T 2 419 531 3588
T+ 3 254 10-83 5007
T 4 545 9-78 594
T 5 891 10-8 7612
T 6 1077 11-69 775
T 7 900 8-88 104 86
g 8 395 592
T 9 720 776 32 25
T+ 10 893 9 55 ‘
T 11 363 gﬁ
T4 12 966
TR 13 |49 ( )\@; 523
g 14 Rﬁ& 46 07.9
15 ) 97 748 62:3
=6 = 777 7-03 938
T 17 335 58 499
T4 18 599 7-49 47-84

EZ] s 4 u ot % weof #, fraffan i d

TH-R/A maifos mffs sk adama

fresd (3%tm) fraen s gaa 2/F@ @

aFa ¢

1. =@ W e sm amrE: =
QHE A A g, Bl §)

2. mﬁﬂog\oﬂoﬁ—a{mﬁmgﬁ
<A 311y A ghfta s £

3 mﬁﬂoﬁotﬂoqﬁ-mmm
HOdl B AT w9OR ghifm

ExGill
19 g 70 2 1 e E s gy
(a) ¥ 1 (b) 233
fc) 13K 3 (d) %@ 3
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The graph given below indicates the
changes in key policy rates made by the
Central Bank scveral times in a year :

Key policy rates in %

7-50
(+25)
750
700 650
(+25)
650 G/QV
600 -
600} o= 600 6:00
550 ©)
& Reverse Repo Rale
500
450
400
4-00
3:50
300

Jul2 Jul27 Sep16 Mev2 Dec16 Jan25 Marl7 May3d Junlé
2010 2011

Which onc of the following cﬁm
most likely reason orgﬁlc Cc

\(,f\a \%

Encouraging foreign investment
(b) Increasing the liquidity

(c) Encouraging both public and
private savings

(d) Anti-inflationary stance

CYRF-S-TXLD/50A

Directions for the following 2 (two) items :

The following table gives the GDP growth rate
and Tele-density data of different States of a
country in a particular ycar. Study the table
and answer the two items that follow.

States | Per capita|GDP growth| Tele-density
income ($)| rate (%)

State 1 704 9:52 70-27
State 2 419 531 35-88
State 3 254 10-83 50-07
Statc 4 545 078 594
State 5 891 10-8 7612
Statc 6 1077 11:69 775
State 7 900 8-88 104-86
State 8 395 502 6
State 9 720 776 82:25
State 10 893 9-55 967
State 11 363 47 o 77
State 12 966 785 @ 8
State 13 495 \1 S
State 14 |, 864 54@ 97:9
State 15 | 4 49 () 748 623
bf‘rne @o \'/7 7:03 938

(\c 1'? 335 58 499

599 7-49 47-84

With reference to the above table, which
of the following is/are the most logical
and rational inference/inferences
that can be made?

1. Higher per capita income is
generally associated with higher
Tele-density.

2. Higher GDP growth rate always
ensures higher per capita income.

3. Higher GDP growth ratc does not

necessarily ensure higher Tele-
density.

Select the correct answer using the code
given below.

(b) 2 and 3
(d) 3 only

{a) 1 only

fc) 1and 3

[ P.T.0.
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(a) Faa 1

(b) @ 2

(c) 1 2R 2zEH
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#, frefaf
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ef
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TH I W AW

mﬁumm@zﬁmﬁﬁﬁn%ﬁaauﬂ

TA-0/8 maEifis e sk addma
Fresd (Foim) T s v ¥/ =
T €7

CYRF-S-TXLD/50A

40

1. 4 gty 9§ g e F ufem
F w9 v w4 A e i iy wl b
SATF ATE F B UsE 8§ ) a9 R

2. IR YeF A "W Tam A mgh wiia
Fl ¢ @ g oty A foin &2 @
forrm oMo @ R

4 g e 2 F Wi W I g

fa) Fad 1

(b) Fad 2

(c) 1 3R 2 2

(d @13 dH 2

\N
\"%\d &3 d g’:‘i\hﬂ]dﬂ A Aa-ai/d

/mamfgnf

x, y ¥ T oft mm F T w3
YAe T 6 e

2. x, y& fEed) ot wm % T R x v
R, 1l y e @A) =iy

3. x, y& Tl i mm ¥ fom AR &
TUMHE B, W y WS B A e

AR 2w m g2 1w = v gfi
(a) Fa@ 1

(b) Fae 2

fc) 1 R 22

(d) 1,23 350374
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vIH With reference to the above table, the 1. During the given period, the

following assumptions have been made : revenue from Direct Taxes as

1. Nowadays, prosperity of an already percentage of gross tax revenuc has
high performing State cannot be increased while that of Indirect
sustained without making further Taxes decreased.
large investments in its telecom 2. The trend in the revenue from
infrastructure. Excise Duty demonstrates that the

2. Nowadays, a very high Tele-density growth of manufacturing sector has
is the most cssential condition for been negative during the given
promating the business and period.

economic growth in a State. :
€ Select the correct answer using the code
Which of the above assumptions given below.

is/are valid?
(@ 1 only (@) 1 only

(b) 2 only (b) 2 only o

(¢) Both 1 and 2 {c) Both 1 a

{d) Neither 1 nor 2 d) VB%EQH r2
The following graph lndlcalcs the \“ \(»%

composition of our tax rev
period of two dt‘Cd(lLb : K
tia

- y=8, then which of the following
must be true?

§ o5 1. Both x and y must be positive for
§ 40 any value of x and y.
£ 354
% 301 2. If x is positive, y must be negative
fg:; for any value of x and y.
%112 . 3. If x is negalive, y must be positive
E - for any value of x and y.
0- an ol — .
& -::; é é é é é é é 0% ___'E Select the correct answer using the code
& © o + B 9 £ & koS given below.
o = (=] o = =] = S C=— m™
=y = o =} o o o o Qo (=]
= = o ™ ol o™ ™ N o ™
! T IV s e (@) 1 only
Excise Customs Corporate Personal  Service
tax income tax tax (b) 2 only
With reference to the above graph,
which of the following is/are the most (c) Both 1 and 2
logical and rational inference/
inferences thal can be made? (d) Neither 1 nor 2 nor 3
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Directions for the following 3 (three) items :

Read the following two passages and answer
the items that follow. Your answers to these
items should be based on the passages only.

Passage—1

The quest for cheap and plentiful meat has
resulted in factory farms where more and more
animals are squeezed into smaller lots in cruel
and shocking conditions. Such practices have
resulted in many of the world’s health
pandemics such as the avian flu. Worldwide,
livestock are increasingly raised in cruel,
cramped conditions, where animals spend their
short lives under artificial light, pumped full of
antibiotics and growth hormones, until the day
they are slaughtered. Meat production is
water-intensive. 15000 litres of water is needed
for cvery kilogram of meat compared with
3400 litres for rice, 3300 litres for cggs and
255 litres for a kilogram of potatoes.

78. What is the most rational and crucial
message given by the passage?

(a) Mass production of meat lhro
industrial farming is chcap\\
suitable for praoviding

nulritioﬂ,fo r\c&nme\s

(b) Mgat- umr& ndustry violates
a :{gdmst cruelty to animals.

(c) “Mass production of meat through
industrial farming is undesirable

and should be stopped
immediately.

{d) Environmental cost of meat
production is unsustainable when
it is produced through industrial
farming.

Passage—2

A male tiger was removed from Pench Tiger
Reserve and was rclocated in Panna National
Park. Later, this tiger trekked toward his home
250 miles away. The trek of this solitary tiger
highlights a crisis. Many wildlife reserves exist

CYRF-S-TXLD/S0A
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as islands of fragile habitat in a vast sea of
humanity, yet tigers can range over a hundred
miles, seeking prey, mates and territory. Nearly
a third of India’s tigers live outside tiger
reserves, a situation that is dangerous for both
human and animal. Prey and tigers can only
disperse if there are recognized corridors of land
between protected areas to allow unmolested
passage.

79. Which of the following is the most
rational and crucial message given
by the passage?

(a) The conflict between man and
wildlife cannot be resolved, no
matter what cfforts we make.

(b) Safe wildlife corridors between
protected areas is an essential

aspect of conservalior c%)rts.
{c) India neceds to \\de@lare more

p?ott, 'trd\a asgand set up more
tlg r scrvc§
d)\lnd}as National Parks and Tiger
\ Reserves nced to be professionally
managed.

80. With reference to the above passage, the
following assumptions have been made :
1. The strategy of conservation of

wildlife by relocating them from one
protected area 1o another is not
often successful.

2. India does mnot have suitable
legislation to save the tigers, and its
conservation efforts have failed
which forced the tigers to live
outside protected areas.

Which of the above assumptions is/are
valid?

(@ 1 only

(b) 2 only

(c/) Both 1 and 2
(d) Neither 1 nor 2

[PT.0.
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INSTRUCTIONS

1. IMMEDIATELY AFTER THE COMMENCEMENT OF THE EXAMINATION, YOU SHOULD CHECK THAT THIS
TEST BOOKLET DOES NOT HAVE ANY UNPRINTED OR TORN OR MISSING PAGES OR ITEMS, ETC. IF S0,
GET IT REPLACED BY A COMPLETE TEST BOOKLET.

2. Please note that it is the candidate’s responsibility to encode and fill in the Roll Number and Test
Booklet Series A, B, C or D carefully and without any omission or discrepancy at the appropriate
places in the OMR Answer Sheet. Any omission/discrepancy will render the Answer Sheet liable for
rejection.

e A
3. You have to enter your Roll Number on the Test Booklet in the \ \ \

Box provided alongside. DO NOT write anything else on the Test
Booklet. o

This Test Booklet contains 80 items (questions). Each item is printeé botlin {{Iij?li'n'ﬁl English. Each item
comprises four responses (answers). You will select the r&isponsc which You want io mark on the Answer
Sheet, In cuse you feel that there is more than one correct Tespnse, T\ark 1¢ response which vou consider

4

the best. In any case, choose ONLY ONE response foy cibh 11

S. You have to mark all your responses ONLY on the, ratg Arfsver Shect provided. See directions in the
Answer Sheet, 1\ e‘ﬁ

6. All items carry equal marks, “

7. Candidates belonging to pu;?qns ith “Benchmark Disability (only blindness and low vision
sub-category) shoulﬁ\ ii”of“a\' mp \'qucs ions, where data interpretation (charts, graphs, tables, data
sufficiency, etc.) jﬁ“~\:;cqu ,_c‘d;a'Qlyistion numbers of such questions are highlighted in the Paper
| U Question N@:}J' 'icshfghl!ghted question, it would look like [BY ). Marks of these questions will be
dlst:&bﬂtéd)gquknlly fmongst the remaining questions for such candidates.

8. Belore voulproceed to mark in the Answer Sheet the responsc to various items in the Test Booklet, you have
g; Al\in some particulars in the Answer Sheet as per instructions sent to you with your Admission

ertificate.

9. After you have completed filling in all your responses on the Answer Sheet and the examination has

concluded, you should hand over to the Invigilator only the Answer Sheet. You are permitted to take away
with you the Test Booklet.

10, Sheets for rough work are appended in the Test Booklet at the end.
11. Penalty for wrong answers :
THERE WILL BE PENALTY FOR WRONG ANSWERS MARKED BY THE CANDIDATE.

(i) There are four alternatives for the answer to cvery question. For each question for which a wrong
answer has been given by the candidate, one-third of the marks assigned to that question will be
deducted as penalty.

(ii) If a candidate gives more than one answer, it will be treated as a wrong answer cven if one of the given
answers happens to be correct and there will be same penalty as above to that question.

(ili) 1M a question is left blank, i.¢., no answer is given by the candidate, there will be no penalty for that
question,
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